MAP 4CI Trigonometric Ratios for Obtuse Angles in Standard Position Date:
Unit 2 Day 6

1. The sine of an obtuse angle, 0, in standard position is _?3

a) Identify the coordinates of a point b) Sketch a diagram of £9.
that lies on the terminal arm of /9. Ya
N TR 510
c¢) Determine cos 6 and tan 6. d) Determine the measure of £,

using a calculator.

2. The tangent of an obtuse angle , 0, in standard position is —1.

a) Identify the coordinates of a point b) Sketch a diagram of £9.
that lies on the terminal arm of /9. Ya
N TR 510
c¢) Determine sin 6 and cos 6. Round your answers to d) Determine the measure of /9,
three decimal places. using a calculator.
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